 The average price of 80 mobilé Phones is Rs 30 gqq | ighest and lowest price
:n obile ph or?;g aa?e spold out then the,avgrage price of remaini;hge;ég:_ieob”e phones is Rs.
29,500. The cost of the highest moPil® 1S Rs.80,000, The cost of lowest price mobile is?
80 HATES Wi 1 aied qed & 30000 € xﬂfﬁaﬁmmwa@m‘m’ﬁ 7 47 fad
ST & o 99 78 Ararger WA @ ST T T 29500 B vy # ) aifeye A W [wd B
gﬁmaﬁmﬁao,ooo 81 T T R g @R arey Aarger Wi @1 B w0
? .

(A) Rs. 18000 ()  Rs. 15000 |

(C) Rs. 19000 (D) Can'tbe determined/fiftaa =& @<

2. In a Company the average IncOMe of all the employees is Rs, 20000 per month

Recently the company announced increment of Rs, 2000 per month for all the employees.
The new average income of all the employees is?/ v wusht % wuft geafRai @5 aiid 3y

ufer A€ % 20,000 lWﬁﬁmﬁnﬁ‘ZOOOHﬁTqﬁm?ﬁqﬁ&"Wﬁiﬁlﬂ'ﬂ'{ﬁﬁﬂ’ﬁaﬂuﬁ

R PO B R | Wl enial @ T8 SN iy
(A)  Rs.1,22000 (B)  Rs. 24000 (C) Rs. 28000

3. Pranav went to the bank at the speed of 60 km/h while returning for his home he
covered the half of the distance at the speed of 10 km/h, but suddenly he realised that he
was getting late so he increased the speed and reached the home by covering rest half of

the distance at the speed of 30 km/h. The average speed of the Pranav in the whole
length of journey is? uvra & 60 fEf /Eier Y e W Ty o7 fpeg TR ATTRA B I S
e g8 10 BN/ Eer @) TRY UR a7 @Y | IEFE T o 6 a8 ol & K& AT O 99T
Wi 91 3N a9 g g@ 98 30 fhHl/Her @ Ty ¥ 7 eRd §Y ©) U T | g
T W gorg @1 ik wfa @ar o .

(A) 24 km/h/24 fa, ufer et
(C) 16 km/h/16 fa+. ufer wer (D)
4,  The average expenditure of Mr. Sharma for the January to June is Rs. 4200 and he
spent Rs. 1200 in January and Rs.1500 in July. The average expenditure for the months
of February to July is? ¥rAlSfl &1 ST &1 57 06 7 31N @al W 4200 & 3R a8 ¥ 1200
ST 1 3R 1500 SelrE F U @RAT B | Rl W GeAg TP D TG BT 3N @t 27

Rs. 3250 (C) Rs. 4250 (D) Rs. 4500

(D) Rs. 26000

(B) 14 km/h/14 T, ufer wer
10 km/h/10 o+t ufer &eT

(A) Rs. 2750 (B)

At the end of a business conference the ten people present all shake hands with
AT ‘

5.
each other once. How many handshakes will there be altogether? Ta& emuRr D aig
¥ wuRer @l 10 @ TF TR A UF qr g Ao €1 B PR 9wl fey am g

fyary oI &7
(A) 20 (B) 45 (C) 55 (D) 90
Tuesday anq

6 The average presence of students of g class in @ College on Monday,
] and on the Wednesday, Thursday, Friday and Saturday is 30. If the
hen the number of students who

ednesday is 32 .
Z\\//erage number of students on all the sy days s 26 the s
attended the class on Wednesday is? g, #T¢91% AR GUAR BT ey 3 Rrerore e
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SqRefy @1 3 32 3N FER, Grar :
; _ . , YHIR Td giaR P 30 B ¥
(A) 50 (B) 40 (C) 60 (D) 70 '

7. Suresh Sé?"ted his journey from P to Q by his bike at the 'speed of 40 km/h and
then, the same distance he travelled on his foot at the speed of 10 km/h from Q to R. Then
he returned ;32; R to P via Q at the speed of 24 km/h. The average speed of the whole
trip is: G WP%memﬁ4ow.ﬁWﬁnﬁﬁwW%aﬁ?
R g R B U 10 P sy sy g R 9 'Q 9 R T @ axa1 & | iR a@ R 9

P, Q@ WK 24 fHL i wier o ify & ey e & 1 L0 AT T S fe &
(A) 185kmh (B) 198kmh (C) 18.2km/h (D)  19.2 km/h

8. Ramesh walked 6 km to reach the station from his house, then he boarded a train
whose average speed was 60 km/h and thus he reached his destination. In this way he
took a total time of 3 hours. If the average speed of the entire joumney was 32 km/h then
the average speed of walking is: ¥ 3 &R W ¥¥H TP ugad @ forg 6 fadl. et e
%,mﬁwwﬁﬁm%MWﬁeoﬁ.uﬁfﬁa%,sﬂ?aaauﬁﬁam
I @ Ugd ol 8 | 59 WHR & 98 Gl dF S BT @H o & | aft gf @ & T
sﬁﬂﬂvﬁrsz%ﬁr.qﬁwaﬂﬁrmaﬂﬁaﬁaﬁmnﬁﬁ:

(A)  5kmth (B) 8km/h (C) 2 kmih (D) 4 kmih

9. Bala travels first one-third of the total distance at the speed of 10 km/h and the next
one-third distance at the speed of 20 km/h and the last one — third distance at the speed
of 60 km/h. What is the average speed of Bala? drefl AT T Tl QY BT TP frere 10
Mgﬁrﬁaaﬁﬂﬁlﬁaﬁqaﬁrﬁwm@mﬁﬁ‘ﬂ'.uﬁfﬂaaﬁ\ﬁﬁsﬁ?aﬂﬁaﬁw
%m‘a‘eoﬁﬁﬁf.qﬁﬁaﬁﬂﬁrﬁmm%,lmaﬁeﬁaﬁﬁmé‘?

(A) 18km/h  (B) 19km/h (C) 16 km/h D) 12 km/h

' ' : he was late by
: f the School and house of Suresh is 80 km. One day
%OhourI::ndtlﬁtaa:gfn?al time to leave for the college, so he increased his speed by 4km/h
and thus he reached to college at the normal time. What is the changed speed of Suresh?
wa‘;ﬁwuaﬁwmaaamﬂaom% o fot a e o T R OIS
Wﬁmmaﬁmmww@m‘mﬁmﬁﬁwgﬁ?

(C) 20km/h (D) 24 km/h

(A) 28 km/h (B) 25 km/h
e she

nd reaches college 4 minutes late. Next timWhat

11.  Anita goes to College at 20 km/h @ 2 minute . d time.
s earlier than the schedulé

goes at 25 km/h and reaches the collede.= o, e < iy W SR 4 T

s the %istance of her scho%';ﬁ m;ﬂgﬁ qﬁ?ﬁ%ﬁ ;?Tﬁﬁ g @ 2 e T Tl

UET B | 3TeN gR dE 25 ;

2| SUD Pror 9 g8 AT E 7

(D) 10 km
(A) 16 km (B) 12 km

(C) 15km
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S el U

00 km apart from each other, Two persons start from R
s. Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way from
R to S. What is the ratig 6f time taken by A and B to meet at M? =y vor= R 3R S T T@
We fFft x ¥ |rafm@m RS IR T B g & HE B eiqwret A TS PN E |
s A, S ¥ wed R @ forg Pl 8] A IR B E @) Ry g 40 iy 60 . T ¥Ry
2B MW AW amt Poe T & 9 B RASH gy w i | MR et & ford AR

B 5 sramr ¥ < oy #7
(A) 1:3 (B) 1:2 C) 14 (D)

13.  Two places R and S are 800 km apart from each other. Two persons start from R
towards S at an interval of 2 hours. Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way f(O”.‘
R to S. What is the distance from R, where B overtakes A? 2 o9 R &R S Td X ¥
800 il q¥ § | @Y @fim R 9 S @ AR & B & sfewrer g aed § | w@AP AR F
7, S & B & frv Frovery & gea Foad 81 A iR B 2/f 4 fy s 40 3R 60 fadl

JHSTRI B M WA I am feg ol &, 9 5 RY S v & | o8l R B, A ¥ 3
ferer oraT 8, 7' R ¥ frad @@t W @7 .
(A) 260 km (B) 235 km (C) 240 km (D)

12. Two places R and S aré 8
towards S at an interval of 2 hour

3:2

300 km

14.  Ajay covers certain distance with his own speed but when he reduces his speed by
10km/h, his time duration for the journey increases by 40 hours while if, he increases his
speed by 5 km/h from his original speed, he takes 10 hours less than the original time
taken. Find the distance covered by him. 3/ v faf¥ad g ot f & &7 &=al 8 W
T 98 ST TR ¥ 10 fE /T B d o § O SH@ A @ |Hdaie 40 He ¢ Wl
& Safe afy a8 og TR B AU WA TR § 5 R /wer 9era €, 99 9% AU o wH
¥ 10 HeT BF AT & | SUD ERT T Bl Mg g qag?

(A) 1000 km [l (B) 1200 km &4 (C) 1500 km &+t (D) 1800 km fersy

15.  The driver of an ambulance sees a bus 40 m ahead of him, after 20 seconds, the bus
is 60 meter behind. If the speed of the ambulance is 30 km/h ([ /HeT), what is the speed

fthebus?w@ﬁvﬁmaﬁgﬁw@waﬁmﬁﬁa@é@m% 20 JYPhs B qIe
SRTGTW%GOWtﬁ@ﬁﬁﬁlaﬁwaﬁﬂﬁwﬁ?ﬁ/wﬁrmwﬁﬁw?

(A) 10km/h () 12km/h () 15km/h (D) 22 km/h

16. ¢ Two rabbits start running towards each other, one from A to B and another from B
to A. They cross each other after one hour and the first rabbit reaches B, 5/6 hour before
the second rabbit reaches A. If the distance betweegg A%and BE gﬂ km, what is the speed
oftheslowerrabbit’?ﬂwﬁﬂ@@ﬁaﬁ?ﬁg &l T® B @1 3R 3R g@wr B 9

i P TP TS UEET g #¥0 © AN TS T B W, g9 @ A R

ESi \
Aaﬁsﬁ?lii?‘g%qgwg|qﬁA@hBﬁeﬂﬂﬂﬁisfso%ﬁ%ﬂ‘r%ﬁﬁrﬂmaﬁ

calkil
;gp‘gﬂ#ﬁwa;ﬂﬁfﬂﬁ‘ﬁ?

" 15 km/h
(A) 20 km/h @) 10km/h c) (D) 25 km/h
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pranav walked at 5 k _
the remaining part of the j Orl?rlh for certain part of the journeéy and fhen he took &
journey, what part of journey %eg travelling at 25 km/h. If he took 10 hours for ?hgu;o!for
journey be 17 km/h? U9 g id he travelled by auto if the average speed of th ntire
2 aiR faw T8 99 A D forg & v Pftag s am 5 . Hﬁﬁazﬁ]qmﬁ&z%em're
ey T

17.

(A) 750 km (B) 100 km (C) 150 km (D)  200km
18. 5,12, 7, 41, 87, 214

A 19 (B) 35 ©) 22 ) 26

19. 14,7, 13, 17.5, 21.75

(A) ‘IO- | (B) 12 (©) 12.5 (D) 13.25

2. 15,5.45,58,79.7

(A) 96 (B) 11.42 c) 1223 (D) 10.74

51, Find the sum of first 30 natural numbers 9erd 30 H&d it B1 AN T

(A) 470 (B) 468 (C) 465 (D) 463

9. 56%of Yis 182. What is Y? Y @1 56% 182 glaryaa &

(A) 350 (B) 364 (C) 325 (D) 330

3. Which of the following two ratios is greater 17:18 and 10:117 < Tl 17:18 3R

1011 & I ST 27

(A) 17/18 _® 10/11 ‘

(C) Bothare same @Ml @ A & (p) Cannot determine fifea T8l X wad

24. In a palace, supplies aré available for 35 days foronly 75 p
tself. For how many days will

in the palace for vacation on da%‘i:riq? o A il g
sufficient for all these eople? T® afaral @ R R Sqel
Pa%m o fat ) 1 Y o W € |ﬁnﬁﬂﬁﬂr$mﬁmﬁﬁ

3| v o W gleed! .
Wﬂﬁaﬁﬁﬁiﬁmm‘\%’ﬁ?
11.25daysi?«"*T

eople. 15 Guests arrive
these supplies be

(C) 42days fq (D) 225days f&=

(A) 90 days f&T (B)
25,  |f difference between compound Interest & Simpﬁémeres;qgn a certati{r;sum of
o p.a. is Rs-12% Find the sum? ‘ ,
moneytf]grszo/yrs.@5/opa:ﬂlﬁ_\I Wiﬁaﬁ—azﬁra'ﬁ\rﬁméﬁl AN
Sg?
©) Re. 16000 (@ Rs. 17000

(A) Rs.14000 (B) Rs. 15000
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26. 2017 India-ASEAN Youth SUMMit wag he/q 17 in:
14 — 19 37T 2017 &7 *RA—3nRAT a1 aw m'frma'? 14th -ﬁl?‘tr:r;ugg?st, 20
(A)  New Delhi % fazeht  (B) Mumbal tay (C) Bhopal "'ﬂ'QTFl' (D) Chennai T8

27.  Under project ‘Navika Sagar Parikramg’ whi , ,

: . » Which will commence in September 2017,
a tfaam .of women officers _of the Indlan N_avy Would circumnavi tee the globe on an Indian..
built sail boat named: Ridav 2017 # 3w, "y Q?$ , g ,5
AftrTRET @ Y & 7 faed & ST B gl ﬁ)_ﬂ”“w'”’%‘” 3*“"‘@" 7 _'-

(A) INSV Durga g7 (B) INSV Sindhu g (C) INSV Amba siar (D) INSV Tarini R

28.  On August 18, 2017, which Asian counyy | s ializin
in handling Internet-related cases? 18 3=, 20!’1y? gn%%dmt%bgrg%s% Hma%f
ﬁﬁﬂﬂﬁﬁmmwmwmﬁm}g?

A) Japan ST (B) China @ (C) South Korea =y giiRer (D) Thailand oTéere

29.  On August 18, 2017, Power Grid Corporation announced that it will get a loan of
$500 million from which international financial institution for its various projects? 18 37T,

2017ﬁmmmﬁﬁmmﬁamﬁmﬁﬁaqﬁwﬁ$ﬁmm
3RY BTeR [ T AT &I GO $Hi7

(A) Asian Development Bank tf3r= Sgeiude aEB (B) World Bank fieg §&

(C) International Monetary Fund 3icRI5d 2T % (D) New Development Bank = Saaic @

30.  Who among the following cricketer has continued to be the world’s top-ranked One-
day batsman in the latest ICC ODI rankings, released in Dubai on August 18, 20177 18
3T, 2017 B &g H SN TaHaH Mg ¥l <l U6 ey ity T # ey & Q4 &

e Racsr Halzd w9 U= 441 §aT &7
sfas aFR

(A) Virat Kohli  favre @igell (B) David Warner
(C) AB De Villiers T & & fafcrr=i (D)  Joe Root T &

31. Who among the following has won a silver medal in the javelin throw at the ‘r_'lrst World

Para Athletics Junior Championships in Nottwil, Switzerland? Tefde, ﬁ%lam'\'ﬁ@ H g8 ugen

freq T TerolfeTRT SRR SRR W A 3y fipe Aol B B RN # oI gesd Sfar ?
(B) Jatinder Singh Siftiax ¥z

A)  Prince Ahuja T amgat _ _
((Cg Prakash Jaishankar 9bTeT ST (D)  Rinku Hooda Ray geer

32 ‘Requisitioning & Acquisition of Immovable Property (Amendment) Bill, 2017’, a biltl
préviding for amendment to the regulations governing compensation amount pagagz ;
the time of acquisition of immovable property by the central gct)vei;‘r;m;?;i;vaa;s agttrtcr:altj ed o
the Lok Sabha o July 18, 2017. This bill ig an amendment 0 ) b

into f in: i @dT H 18 TIES, 2017 B ol SLEd
gé?aggem @WW%@@quwgmaﬂggﬁmimﬁWﬁ
Wﬁmww1wﬁmwmﬁmﬁwwg o

D) 1

(B) 1951 (C) 1950

(A) 1952
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33, A bil providing for setti
was intro ducedtli?,gtﬁp of the Indian Institute Of Petroleum and
me——E O LR SRS we;[ Lok Sabha on July 18, 2017. weTE 185”er9y in
awyr or? BIIES 3 <R B B R m%‘g?%ﬂj;
(A) Punjab LIE] B)H
. aryana &I
(C)Telangana AT
(D) Andhra pradesh 3% PER

34. The best exam :
ple of the extinction of species due to man's intervention is ATTd

gﬁ%ﬂ%mﬂ,uﬂ%ﬁiﬁﬁgﬁmmmwm |
(A) Kiwi @rdl -(B) Dodo P
(C) Przewalski's horse YqTEh! BT D)

35, Which of following utilises sunlight in a direct fashion? fre & A T g4 B TI Gl

Ay oIl BY H DT F arar 87
(A) Photo voltaic cell STl dIecra e () Solar therm | cells ER
(c) Biogas production 39 i Scred ED)) Both A&B :‘HEIGAS& B o

‘lnternet'_}erm WWWW, the 4™ W stands for Fovie ] & WWWW, F W E

36.In
el ‘
(A) Web Worm (C) Wreck (D) Wsjk
37. IPv6 addresses have @ size of.  IPv6 i b1 e &
(A) 64 bits 128 bits  (C) 256 bits (D) 512 bits
el e A e

ion of India recognises:

38. 1he Constitut
el aifi® sy Bl

jous minorities

(A) Only relig e
@) Only linguistic minorities A< e ST G| L
(c)  Religious and Linguistic minorities efif 3R AT s B
(D) Religious, Linguistic & Ethnic minorities e 3R S ST Bl

' i .+ Mughal Emperor's rule, number of Hindus employed
39. During which of the following MUE : ; i

: dministration was the highest? I NINED
by Em;;—:?rs A stra Aol
' (B), Akbar 3THT
un '
e mgngaﬁ j/) Aurangzeb 3T
g system

introduced by Akbar was borrowed from th
né"qﬂ'\qﬁmgaﬂ"?ﬁﬁaﬁ:
(B) Turkey qdi

TR
: (D) Persia qfern
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™

witnessed the rergns of eight De|h'

id to have:
41.  Who among the following iS sai
Sultans? =1 7 9 fpz1 Reeft @ 30 FATH B Hegg Ea) wat’r gl ATl
(B) Shams-i-Siraj Afif W*'S‘—ﬁm'\"f G?q?r't?

(A) Ziauddin Barani fraregd ae il
(C) Minhaj-us-Siraj: firaro—as— R (D) Amir Khusrau 3R
yodhya issue to the Supreme Court gger

42.  'The President of India referred the A
gg;chAmcte?mw$vwﬁ#mﬁaﬁﬂﬁﬁma@a$mm?ﬁvﬁm ¥

(C) 138 (D) 136

(A) 143 (B) 132
43.  Right to privacy as a Fundamental Right is implied in Mu=rgar &7 JAEHR TH Hifew

AMEPBR B w7 F apef 2y 2 o

(A)  Right to Freedom wd=ar &7 3R '

(B)  Right to Life & Personal Liberty S Sﬁ'\' frst WIEﬂT-IﬂT P SARBR

(C) Rightto Equality AT &1, SRR 4

(D)  Right against Exploutatlon el & [O%g afer

44, The interval between two sessions of parliament must not exceed G BT 9A D

41 BT SfcRTer 3R Sifdre & & ARY ?
(A) 3 months wig  (B) 6 months #8 (C) 4 months ?ﬂ‘s’ (D) 100 days feq

45.  With reference to inflation in India, which of the followmg statements is correct?
Pl H /B W BT G 7

IR # ERGIY & Feaof & frafoiad wemt
y of the Government of India only

Controlling the inflation in India is the responsibilit

(A)
URT AT IR R Ri% 9RT TR B e 2 |
ntrolhng the inflation Rerd ¥ aﬂTﬁ

(B) The Reserve Bank of India has no role in co
ST BT T Wi BT FRT v § 3 sqfivapr =181
ps in controlling the inflation Eedr Hqg1 wewo

(C) Decreased money circulation hel

eI BT AT wear @
i ps in controlling the inflation agar HaT TR,

Increased money circulation hel
I ®I FART Fear @
Which of the following brings out the 'Consumer Price Index Number for Industrial

46,
Workers'? f & & B ‘$lienfis sifiat & fag Swieet 9e0 qaeies’ wmar 2 2

(A)  The Reserve Bank of India Rsrd §5 s gfean
The Department of Economic Affairs aﬂﬁkﬁ AT BT T

(B)
(C)  The Labour Bureau sifie
The Department of Personnel ang Training ®14% T gfdrerop T

(D)

(D)
47.  ‘Golden Revolution’ is related to wf gfe wfor & :
(A)  Precious minerals g7 e (B) Pulses et

(D) Horticulture SRTET=

(C) Jute S[©
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48.  Acountry is said to be in a debt trap if & g1 @y AL b Gl W e o 8

(A) Ithasto abide by the conditionalities imposed by the International Monetary Fund
ﬁsﬁfﬁfmﬂﬂmmmmﬁ%ﬁ%mﬁ b
(8) It has to borrow to make interest payments on outstanding loans 4% quur vy 1
ot goT B oY SUR o P
(e) It has been refused loans or aid by creditors abroad ey eFTERt gRY o shY
3 forg 7 fpan o g@7 & ¥ A

(D) The World Bank charges a very high rate of interest on outstanding & new loans
ﬁﬁﬁmwmwmﬁwmwaﬁmmwﬁ

49.  With respect to GST, consider following statements GST @ ¥ida ¥ w1 Fortt W Rar oY

Reduces cascading effect =19& wirg w1 &d PRAT g |

\s a.comprehensive-indirect tax 78 Ta ayeger ATH IR 8 |

Aimed at forging a common domestic market 3 BRe] TR B R T & Al B
Alcoho! and petroleum are exempted from GST #fewr ok Ugra @1 GST # vE Wi B

(A) 1,2, 3 correct e ' (B) 2,3 correct e ¥
(C) 2,34 corect W&l & (D) Al the above are correct Wi w1 §

P 03 Y o2

50. India’s current account deficit in Balance of Trade is mainly due to IR @+ TR
maﬁ?ﬁﬁa%aga@zmwwhﬁmmmﬁgmm%
(a) Increasing imports of oil and petroleum e iR gfera % 3 # gfg
(b) Increasing imports of gold and silver A iR = & emara A gfg

(c) Increasing imports of food grains @ 3T $ AT ¥ qfE
(d) Increasing imports of iron and steel 7g @ik @ @ Ima # gfE

® @O ®) (a)and (©)
(C) (a)and (b) (D) (a)and (d)
51. Find the minimum number of straight lines required to make the given figure.

wmmwmﬁmﬁmwmmmaﬁﬁmmm?
A) 16 B 17 © 18 D) 19
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i ing figures best depicts the rejationship among CriMinlg,
2. Which of the following figt Epict: r _ T HET By
thieves and judges? A Pl T ¥ STIne, =it it e @ A R
o Wit faf e &7 .

(D) ® o
© ©o° Qoo D

(b) (d
(A) a (;,,/ b C) ¢ (D) d

53. Find the number of triangles in the given figure.

Wﬁquﬁaﬁﬁaﬁvﬁﬁmm?
(A) 18 B) 20 C) 24 (D) 27

54.  Of the following two étatements, both of which cannot be true but both can also be
false. Which are these two statements? 7 3t wery & § oy Sl e ARy W 7 KB
%Wﬂﬁmﬂﬁﬁmﬁrwﬁm%ﬁﬂﬁé? |

| All machines make noise T R ped) &

Il. Some machines are noisy B9 WA AN Fey ¥

1. No machine makes noise 1% N 79 vk EaGI

IV. Some machines are not noisy 9 T R 78 ey &
A)1&Il (B) ma&iv (C) 1&H D) &y

55.  Insert arithmetical signs in the €quation for it to be correct 8 4 2 =18,
842:16ﬂﬁmﬁrﬂﬁmﬁ$%ﬁwﬁﬁ%ﬂ ﬁ%‘fﬁrdﬁﬁmﬁm?
A)  +x B w0 e+ @)+
[

56. I afe 84x13=8, 37x13=6, 26x11=5, yop < 56x29=7

(A) 3 B) 5 }9)/7 @) 9 8

R o
m@eﬁ | O

% ;\&Q/ c)
o O 7 .\ 0@ = @/O
- 7
%> + \? {/\D - ® . @
T Wi W
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> R =¥ 3=
N e Tv2 xyp =& - N
// 3 { G o :
= Y T =
ans multiply and — means-plus, then find the 2

57.  If + means divide, X meang — me
value of 9+3+4-8x2 % + BT a1ef fayyr

a1 9+3+4-8x2 X BT 3 -, - w7 3ef O AR~ @ sive @)
15 (B) 17 — —
;87%1 ;;?geqnme%;n of the Séquence 1, 8, 4,27, 9, ... 30 ®W R=urt A o e
o/ 8 9 © 64 (D) 16

s9.  David divides 78 by half and adds 1

Z 3 . . - . 1. IS §)
% ¥ AT B 1 Siedl &, 1t 3 g o Whata?;(nn?ber he gets at the end? s 78 ®
(A) 50 B) 44% (C) 167 D) 83%

60.

In a knockout football competition 23 tegms participated. What was the least
number of matches they needed to play to decide the winner? T “iF—amwe” AT

gfeaian # 23 W T AT I | 57 S @Y Rorar @y ot o @ R B Q BH fad A

(A 11 (B) 21 C) 22 (D) 62

61.  Athalf past Sin ti}e evenjng_,‘th? smaller angle between the hour & minute hands of
a clock is 7 @1 530 9o, Sl & °C 3R e & @it & 9= @1 oer w1 B

Ay 10° B) 12° (C) 15° ©) 18
62.  Fill in the blanks Raa e wiRY : BATBA BAC“ACB CBAC
(&) AACB (B) BBCA (C) CCBA (D) CBAC

63. Angles of a given triangle are in the ratio of 2:3:4. What kind of triangle is the given

triangle? f&u 0 fErmior # BN P U 234 €1 fam wan B 6w gwr w@ B 27

(A) Right-angled &I (B) Obtuse angle 3ifdrs vy

(C) Isosceles wHfgarg T (D) Acuteangle  <JH ®UI

64,  The houses of A and B face each other on a road going north-south, A’'s being on

the western side. A comes out of his house, turns left, travels 5 km, turns right, travels 5

km to the front of D’s house. B does exactly the same aqd reaches the front of C's house.

In this context, which one of the following statements is correct? A gﬂ“\? B® TR STR—

o 1 9 A T weh W Tw qE b I wee Rert @ R A wr uitw @

%2 | Aa TR W ATey o &, A et 8, 5 AL ) T @ @, <0 e # o D @

E;”?F'qmqa-fg,ﬁ;;m &1 I Al B | B fiedel 9T € SRl ¥ 2R C & R & AM Ugd
i ol N -

T 2 | 3w T A F H W E w we W e | \

C and D live on the same street, C 3R DI® & weP W Ve ©

) : ‘
) C's house faces south. C @ ™ <o € e

(C) Houses of C &D are less than 20 km apart CaR D& =R 20 ol & H1 QW &
)

None of the above IuRigd H |

- C o
r 7_"'; ==
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65.  BEH, DGJ, (?), EJO, GLQ. INS, ? y f
(A)  FLR @) FIS (C) Fko (D)AL |
66. H,V,G TFREP?: | |

(A) KL (8y D, N € ¢ (D) LK

67.° 43:10::8:7 ;

(A) 10 (B) 13 (C) 17 (D) 14

68.  If TOUR is written as 1234, CLEAR s written as 56784 and SPARE is written
as 90847, find the code for CARE ¢ TOUR &Y 1234 frmar oy 2, 'CLEAR @1 56784 forar

CITT & 3R SPARE @1 0847 ferdl ST & @Y CARE &1 #ig yar &v ?
(A) 1247 (B) 4847 (C) 5247 ° (D) ‘5847

: : . the code for CIRCULAR
under the same rule. widfie W 7 CALANDER =1 CLANAEDR .frar @it & | €%

CIRCULAR & fer@r SqT:

(A) LACANDER (B) CRIUCALR
(C) CLANADER (D) None of these wwiga ¥ & B 78

(a) Either he is happy or he is poor. 31 T a5 e & o1 78 M99 & |
¢~
W

70.
9&\ (b) He is happy. a8 @@ & | :
Eé! g(,/ Inference : He is poor. 3/JAM : 98 TRIq & | v '?‘(,y@q/
C{* <" (A) The inference is definitely true 3TA Yuiea: Ty & _ ov?‘ﬁ @5{7/
v (B) Theinference is definitely false JrgATT qofar: s & | N #
¢ (C) The inference is probably false or true AN HHa: NI U7 9 & e,y ov i
(D) The inference can not be drawn 3TFHM T&f @1 o weaT & o(L\

71.  (a) Those who are honest are good teachers. W $AFER &I &, a1 ares R 21 ¥ |
(b) Hard working people are honest ¥l @I $HMSR B9 |

Inference: Hard work is the necessary quality of a good teacher.
AT : HETd U 0 e BT Nawd T & |
(A)  The inference is definitely true s qofea: v 2
(B)  The inference is definitely false aram quicar: arred @
The inference is probably false or true 3[HM T¥dG: 3\ AT T &

(C)

(D)  The inference can not be drawn arga Tel fAeTel S Wavar &

72. Based on the following statements, which is the correct conclusion drawn.
RrefeRad duHl W & MR R B W7 g sy Fdd @ oy 87

Only gentlemen can beqome members of the club. Many of the members of the club are
officers. Some of the officers have been invited for dinner. daar Foor oY T4 B el

g5 Gad 8| DI o B R fygryy ) P IREIRAT B I W W® e

ave been invited for dinner To@ & T wewE B Ay

(A) All the members of the club h

12
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aiyor e @ @
Somae of the officers are not gentle
All gentlemen are members of the

men H& aifiygre) o7 Aol 499 Tl &
club Wl woor qoy Fod P T €

for dinner @ae Foor GOU @1 I AW W L

(D) g;#/ gg:%qmen have been invited

3. Inafamily there are husband, wi dacsd's
d, wife, two sons and two daughters. All the ladies were
ho

d to a dinner. Both sons went out to play. Husban d did not return

f(om office. W

invite

was at home? U@ URAR ¥ Uy, o

i ol | @ g AR W g R IR Ul W

(A) Only wife was at home Hae U&lt ¥ wy of (/\T
(B) Al ladies were at home ¥4I AfREY wx v off g w 2S5 i el
(c)  Only sons were at home DI T X ¥ o

(D) Nobody was at home ¥ T PE TE o '

If Ais the son of Q, Qand Y are sisters, Z i -
. ! . Z
ch of the following statements is correct? Hﬁli thg rar:_crntg;r §OfQY,31|?’\’I

74,
whi
& fre # BT T BT W R?

s the son of Z, then
Yaed & YHI T Z

3 p,Z® GA

(A)
(C

75.
placed above

books touches the

p is maternal uncle of A; P, A &T ATl -4
) A and P are cousins; A 3R P =R

There are 5 books A, B, C, D & E placed o
D, B is placed below A and
surface of the table?

& UR Y@ 9§, B

~ (B)PandY are sisters; P AR Y T ©
Wig § (D) None of the above; T BIg T

n a table. If A is placed below E, C is
d above E, then which of the following

gﬁ‘cﬁwﬁﬂ‘s“e‘uﬁAaﬁEa‘s%

i

D is place

TH A9 TR 5
&1 A D = v o 8, D P E & W X

&—O,

<1 T &, C @1 D
a,mmwwmamwwm%?
A) C (B) B Cc A D) E ' +
76, ‘To decamp’ would mean: \
(A) Toremove tent (B) To evict campers e /
(C) Todecrease pressure (D) Toleave suqdenly @
27. Which pair is wrongly matched? _
: Gamut : Whole

(A) Discreet: Separate (B) :
(C) Exacerbated: Increased (D) Allude :Escape. s
78, Identify the correct pair: - % ®

: B) - Allude : Escape
Eé; E‘IourggérDodge ED)) Latter : Afterwards
79. A devil's advocate would be: t t t g ®

; : A counter argument presen er
(A)  An evil person (B) .
(C)  Advocate of a criminal () uqreglstgred advocate © ®

| &
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80.  Satish heard it from the horse’s mouth means:
itati e (B) From a close fri

2 horitative SOUr N

(A)  From an aut ly member (D) From his boss

(C)  From the closest fami
Sunita.

81.  Satishis seated __— o
(A)  Besides (B) Beside (C) Clearly (D) Closest
82.  Identify the incorrect pair: ,
(A) Moot :Debatable (B) Singularly : Individually

(D) Sever : Detach

(C)  Regimen : Prescription
' haven't studied a lot lately'. Here, ‘lately is a/an

Adjective (C)  Noun (D) Preposition

83.
(A)  Adverb (B)

84. Which sentence of following is correct?
(A)  The flowers was arranged carefully. (B)  Tpe meeting start promptly at 1100.
(C)  Computers save time. (D) Lightning strike indiscriminately.

85.  Identify the incorrect sentence:

(A)  None of the minutes was wasted.
(B)  None of the time was wasted.
(C) Is any of the pizza left?

(D)  None of the above.

86.  Among the two statements:

(i) Either Satish or Sejal takes out the garbage.

(ii) Each of these prescriptions have side effects.
(A)  Both are correct (B) (i) is correct, (ii) is incorrect
(D) Both are incorrect.

(C) (i) is incorrect, (ii) is correct
Choose the sentence that has incorrect form of words:

87.

(A)  When will you bring you're pictures to work?
(B)  Itis your responsibility to go into details.

(C)  If you're planning to attend, do let me know.

(D)  None of above.
her speak on Friday night about the advantages of organic gardening.

(B) would hear
(D) will hear

88. |
(A)  will have heard
(C) would have heard

Choose an incorrect/incomplete sentence:

89.
(A)  The children in the park, including all those on the swings.
(B)  Sarita is an excellent schog| teacher.

She couldn’t believe the premijge of the story.

(C)
(D) I saw Dr. Ghosh because Dr, Khan was on leave.

14
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Wwhat is not correct if ‘nest is to bird'?

90.
(A) Hanrgljartis t_o alrcraft‘ (B) Vault i —
(C) Orchestra is to music (D) V'?igt I'Z ttc; oSl
el
g1. The exact opposite of ‘Lascivious' would mean:
(A) DEVOted (B) Chaste (C) Fluid - - (D) Man[fest
92. ‘Repercussion’ would mean:
action -
o E:collec’tion (B) Concussion
© (D) Clever reply
93. to go out to an ltalian restaurant tonight?
(é) ?’guyﬁlgé"ke | (B) Are you liking
(C) (D) Would you like
g4,  Excuse me, = time please?
(A) You have the - - - (B) What is
(C) Have you got the (D)) What
g5. He likes reading. He was a reader. (Fill in the best fitting word)
(A)  Anxious (B) Enthusiastic  (C) Voracious (D) Fervent
96. | remember my sister taking me to the museum.

(Choose the best fit among the alternatives)

A) | remember | was taken to the museum.

B) | remember being taken to the museum by my sister.

c) |remember myself being taken to the museum by my sister.
D)

| remember taken to the museum by my sister.

“To make a clean breast of means:
(B) To praise oneself

(A) To gain prominence
(D) To destroy everything

(C) To confess everything

98. ‘Tobe above board’ means:
(B) To be honest

(A) Tohavea good height ;
(C) To have no debts (D) Tobe beautiful

99. That which cannot be corrected means:
(A)  Unintelligible B) Indelible
(C) lllegible (D) Incorrigible

overn the many is called:
() Oligarchy
(D) Autocracy

100. State in which the few g

(A) Monarchy
(C) Plutocracy
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